V-20 BERL =8 b0 2% 0 s R%H 1>7)- L RAE A BTV ER ] 15 - RIR

EcERS £8 OoF S IR K
v ¥ K% 2% 47 R b &
F-¥KE 2§ Z W A F
1. IzNNE
KRBT - 7)) - BRI = e 2B aftiE 1 RERSTE
B ERRE e 50 0 T3 LEBL L E RER £7T 7w > fE s B B AP REDAS
TRNELNTH D, ﬁ’ﬁi ﬁle‘&:{k ‘%@fx‘ﬁ
2. B ot 15T 8. o SBTARA T, (| 2 |0 2 2| o
A. BB ARTTERIR  (BAPK No ~ No5) AR .
BE: 3om o - BdBlt v oSN Bl |2 b 0 BT Ly N,
Xxa éﬂ)ﬁ% B LD, 2\ B HA

SR Wi (RS0 A 2257 D 80) o KRR ) P R T S
13, BERRR (@4) LAY TS Shooes, IS SBRTA saer B BE
V%‘«ﬁ\ﬂ%ﬁi%(ﬂ%%! ;') “Q’\it d)%kvﬂét ~@%nn%%’d /N L1113 Nodl o JERKEN 4 30% Tloo @ ”%VWW‘I\K

C o131~ 135: No3i~ 350 BAAET 0 +10 % T o0 B SHEFKHE

BRIV K3 <, 3BTRS VIO INE DLD o5 vossohearkis 01 oo 4250

NS T BHREMANIF SN X
B. FRE 550 AFARSTEARR (B5ANo. 11~ No.55) E}%ﬁi
8e7: KER A v N R BRI TTE o J0RR 0 48BN w PNHHTE 5 i Lol o

wXENRTTABR (BIEE -1z, 12 $8) 1259 BB -Bans=k, ﬁ\mmm e}

HR: D5 sowk30kR ), Bonr HEHEERWE PRI HBAK )i
TA6) (61.5°) a5 atanrd 17516 (90°) i e 4K L, IL56) (45°)2¢
213 VIO (0) oz LT, 32 BERA &R B Tt , §
R BT 1B AT 0BT 0B BB 2, E) 9 (T P
VRN BET oK N, BB 1ot Ak, I FNBE TR T %
0 o AFNBET LEBEN RawlB LT 7=, g gl B A 5 2
=D ET 58 Sor B © £ 3 €50 XL, ABUHEN T AR RED )
= LEF S €A HHED £ B ok, o

C. FNBEE 5 & o SRRUAGN BT KM (HBRENo. 11 ~ No. /55) 2 %@.ﬁﬂ%@m@

BEY : =B o nSERUBET T Rk H BT 38 « TN e A2, :

BR.FE-4 &), BREHE AR 2 905 2FTE bAL T I00E R L =1
WS90 7 = (EENB 12 No, 132  No./35, No. /55 o S1ETH 720 No 13212
T (61.5%) o =o' ) BlL (6EE SRRIE L7z JEETRITE B
1% 227~} wGH (@-b@) 3-saBRE0TH (B-68) 9 Esb. 2Y 37 1E 4
BEEVERTE 0794 o0 R3¢, bk 8 1= 3 Z A0 700 1103 s oo
M-8 1Y, 20755 4 519) £ 258 1D] A THL LT D X0 Do No /35 No, /55
1T v Viam07) 18y, L1079 1= <5~ MR (A= Y ) dv K2 <, ;L
EWRFTER0BHIRIN . cazeoss B ) A K31 B SR 1 Ekﬂ:mw
TIRRIE A 272330 Ty oy, [ P55 it 724 ] 103 ?’%&M ARTHE]

39

<



Piron)

(o) BEEREER

piton)

@ 4 mwﬁ&%ﬁ% R EFEE

@5 r?\\%ztsm%ﬂ%m%%%%

.t
S N K i For AR RERTRRIL
2000 |- IR (458 s oy | By | | 528
/ — T8 co. » = 3} >
2000 [ Wi (0.10) b3 2 5 {f!i 2Ex |26y "ﬁﬁ FEgE 210+
No. | (B)IMd), Ton) imm) [(mm)| () fcmm )id-m)
’ @ 1| 34 388252 4.4 18.8|95.2] 49.0{1.235
L /_/~/ 2| 34) 3871 18,4 16.1 [10.2] 57.1 | 46.9]0.863
1000 !
- 3| 35, 418] 12,3 21.3 | 5.4 {32.0 50.1/0.617
2 4| 351383 9.5{25.1{ 1.6|13.9| 54.4|0.517
PSP —— e
w | 5| 36)398] 9.6]/27.0] 0.3 57.0[0.547
\ @t
R e i 3 :r ma;mmﬁﬁ?’\%%
A e Ng Y |25 opE 1t lﬁ ‘
@ ; & ﬁﬁﬁﬂ y—f"be, aEx Mﬁ tM
TR 10 0. ! H‘M) \Ton) o) | anmy [cmm) | ¢ *) ' cam) it-m)
1000 5, e 71752 L7668 931621 115 1357
e 12 | 373 433 25.2 1,20 |14.5 | 7.10 2610 16.1 1,142
O 3 ‘ ! i !
S N 'Y 13§39 389,25.2 0.56]10.6 , 2.7 14.3: 10.0 0.619
i 15 0351377 '25.2 0.50|10.5° 0.5 2.7 10.5 0.571
@ I=h)=p s 0%4 2000 Ly W 311391442 12.3 1.76| 0.6 15.6 81.8115.6 1.270
EIJJF; ) * T}r L b M’f"‘fﬂﬁ/@ 32 136389 12.3 1.42}15.0 .10.5 35.0E 18.3 1.097
. S T 33 136 393 12.3 0.90{19.5 5.61 16.0; 20.3 0.801
-6 PREBE 5 so- =Srst\ AT BFTHMEER (BRI, 132) : K
35 135 392 12.3 0.72 20.6 ° 0.6' 1.7120.6 0.695
{«#‘M ¥ /‘W 51| 36:405' 9.6 1.66 1.1 '17.5: 86.4] 17.5 1.184
1 2 ) ,
: 52 1397380 9.6 1.28 18.8 .12.5 33.6! 22.60.999
Nol3Z o I g No/33 ! T :
N 675 X 53 36‘405‘ 9.6 0.9725.6 | 6.6} 14.5] 26.410.846
f 3 L ; ﬂ/@ ‘ 55 BJMO .6 0.75 257(01 0.2| 25.7{0.704
| N
ﬁ 4 cm?bm Jp@w) FEDHE
4%@ T w B ioig
:HSV%]?F)TJ & “3 \z 15 s ;’i}_ 7-@“7{51—*737 s [y |40
B st . Pog 7 TR iR \ﬁ»‘i‘k;ﬁ £}
2000 No.! (@)t y lf:)nz_‘\lﬂl_ tor) iTon) Torm) im) w1 *) [ (mm) | itm)
- i 3ﬂ 437 ‘25 (10 1.7 "B JW 0.87T8Y 88,1 18 3+1 549
10.810) B
o 1311 a3 1440 12,3 101) 1.88 0.1 [1.59 ! 2.3 181 e2.8 18.2 11,63
) 132‘3/‘4321123 45((1241)01’129 241 141 '30.3 279\1118
work e 13336 1432 112.30201) 1.07 0.1 0.8 [17.0 5.2 '17.0 | 17.8 | 0.888
- e 2 1351 35 | 441 ‘12 31 290,64 0.1 [ 0.64119.0, 1.3 | 3.3 [19.0 [ 0.634
2 /__/,~/\/¥C 2 155 (135|432 | 9.6 65@67])01J06/‘266‘ 0.3 0.6[26.6]0.668
z e 3 -
[ 2 R er—— o e oD 13 100 BOBRLETR2EEY 101BI8 < s 1or |
+ e 7 17N ¢ YR );b}i[m%"m
;7‘ : f - I
. -, - /| Al
T S - B /f i ‘L:la‘;])
loo0 L H R No.132
Ik 7 ) — = T 2 4 st
w 39 Hd o B ot
s /\/\//\/\
— No13
. v
IR . - ) .
xigty  —TEA0Y 10 2 50 60 70 80 {p‘z;_nggﬂ)
4 e e B =] 0 07t n A

1000

* N :b)%ﬁ%ﬁ?fﬁéb ’)"M\No/jg)
T i 50T B AU RHT AN

o )

N, 132 (46a0)

w0 P

Y (mm) =~ No.113(101f8)

70 +
ke At

(D) SPR AL oty 1 0P ARy
-8 FHIR 5 Eu=FRARNIGE 5 b MESL,

40



